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Question 02 



 
(a) The hedged item is an investment in equity that is measured at fair value through other 

comprehensive income (OCI). Therefore, the increase in the fair value of the derivative of $90,000 

and the fall in fair value of the equity interest of $100,000 since the inception of the hedge are 

taken to OCI. 

The net result is a small loss of $10,000 in OCI. 

   Dr Derivative $90,000 

   Cr OCI $90,000 

     Dr OCI $100,000 

     Cr Equity investment $100,000 

 
(b)  

i. The futures contract is a derivative and is measured at fair value with all movements being 

accounted for through profit or loss. 

The fair value of the futures contract at 1 October 20X1 was nil. By the year end, it had risen to 

$95,000. Therefore, at 31 December 20X1, Chive will recognise an asset at $95,000 and a gain of 

$95,000 will be recorded in profit or loss. 

ii. If the relationship had been designated as a fair value hedge then the movement in the fair 

value of the hedging instrument (the future) and the fair value of the hedged item (the firm 

commitment) since inception of the hedge are accounted for through profit or loss. 

The derivative has increased in fair value from $nil at 1 October 20X1 to $95,000 at 31 December 

20X1. Purchasing CU2 million at 31 December 20X1 would cost Chive $100,000 more than it 

would have done at 1 October 20X1. Therefore the fair value of the firm commitment has fallen 

by $100,000. 

At year end, the derivative will be held at its fair value of $95,000, and the gain of $95,000 will be 

recorded in profit or loss. 

The $100,000 fall in the fair value of the commitment will also be accounted for, with an expense 

recognised in profit or loss. 

 
 
 
 
 
 



(c) 

 

 
 

 



Question 03 
Part A 
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